| L2 time used per input event

| total events O=anyInput 8=anyAccept | Entries 20250 Entries 147852
Mean 1.93 " C Mean 68.73
.......................................................................... <
RMS 2.719 %OOO ________________________________________________________________________ RMS 10.83
=
000 e R R R LR REECAREEEREED
QOO0 - -wm- -t flrrrrdrrrm s r e
3000 |-+ -rerifeerfrrbem b
2000
LOO00 |- reeifrremme ] brrer e e
=k - o O LIIiIIIIiIIIIiIIIIiIIIIiIIII
2 3 4 5 6 7 8 9 0 50 100 150 200 250 300 350 400
Input: 1=btow, 2=etaw  Accept: 4=onelet, 5=diJet, 6=rnd x: time (CPU kTics)
|rate of input events Entries 15493 4ccpet rate blue:monoJet, red:diJet, black:randon1 Entries 1349
e i S R S S Mean 269.9 ~ Mean 271.1
T : T
e ; RMS 139.5 o RMS 1395
I 3SR L g- P B
> : > b
SOl e R RARERLL DELLRELRELEELERD
25 .................................. ..................................
710] 1 AN FOUSRRRURS SO SRR SRR
L I SUULUR I O
L e ISR USROS WU N S
B 5“___“___"__‘"___“___"__ S A E S
0 1 1 1 1 I 1 1 1 1 i 1 1 1 1 I 1 1 1 1 [ -;-“I“-;---l---I-”-l---l-“-l---l-”-I---l-“-l---l-”-l---l-“-l---l----l---l-“
0 1000 1500 2000 2500 1000 1500 2000 2500

X: time in this run (seconds)

X: time in this run (seconds)




BTOW tower, Et>2.0 GeV (input)

soft=1+

00
x: BTOW softiD.

soft=801+

x: BTOW softiD.

500
X: BTOW softiD.



ETOW tower, Et>2.0 Gev (input)

crate=1

crate=2

x: i=chan+128*craty

&

crate=3

x: i=chan+128*craty

&

crate=4

x: i=chan+128*crate

&

crate=5

x: i=chan+128*crate

&

crate=6

=chan+128+crate




BTOW tower, Et>2.0 GeV (input)

Entries 6683

25 30 35 40
X: eta bin, [-1,+1]

4 6 8 10 12

x: 12 - Endcap etaBin ,[+1,+2]

0

18

16

14

12

10




Et Jetl-Jet2 (input) | [Entries 15493]  IdjJet1 eta-phi (input)]

BTOW-West| Endcap

S 12 _ 30 140
] - (@]
Q 5
= | (]
o 10 ? 25 120
| =
- o
L < 100
8 >‘20
80
6 15
60
4 10
i 40
2 20
0 0 0
0 2 4 6 8 10 12 0 2 4 6 8 10 12 14
x: Jetl Et/GeV x: iEta [-1,+2]
diJet phil-phi2 (input [Entries 15493 ] |{jJet2 eta-phi (input Entries 15493
| et phil-p (input) ] | et2 etacpt (input) | o est Endcap
5 § [ ] ]
o 3]
8 o 70
{25 L oS R
N =
£ & 60
2 =
5 20 p] WER 0 B
50
15 15 . e .
40
10 10 e : RN 30
5 5 20
10
0 0
0 5 10 15 20 25 30 0 2 4 6 8 10 12 14

x: iPhil ~sector X: iEta [-1,+2]



Jet2 Et (input)

104

10

Entries 15493
| Mean 2.291
RMS 1.353

30 40 50 6
x: Et (GeV)

0

Jetl Et (input) Entries 15493
] Mean 5.589
“IRMS 2.058
10
102 |
10
)
x: Et (GeV)
| # BTOW towers>ped+8 (input) | Entries 15493
500 f=----- AR R LR R R T --{Mean 31.35
: : : : : : : : RMS 13.84
A A B
% 20 40 60 80 100 120 140 160 180 200
x: # of towers/event
# ETOW towers>ped+8 (input) | Entries 15493
- Mean 16.68
- RMS 10.51
600 [ Tl - - = = o ohe e e e -
N =R D D T i i i i
0 10 20 30 40 50 60 70 80 90 100

x: # of towers/event

Entries

. Mean
L |RMS

15493
17.74

5.094

10 20 30 40 50

60
x: Et (GeV)




one-Jet Et (accepted) |

10°

Entries 1349

oted)

10

0 10 20 30 40 50 60
X: jet Et (GeV)

one-Jet eta-phi (acce

y: iPhi ~sector

-West| Endcap

D TUYV

0 2 4 6 8 10 12 14

x: iEta [-1,+2]

Entries 1349

Entries 1349

90

80

70

60

50

40F
30F

20

10

0 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1
0 5 10 15 20 25 30
x: iPhi ~sector

140

120

100

80

60

40

20

0 2 4 6 8 10 12 14

x: iEta [-1,+2]



|Et of Jetl vs. Jet2 (accepted)]

>

Jet2/Ge

12

10

N

0 2 4 6 8 10 12

x: Jetl/GeV

Entries 1149

140

120

100

80

60

40

Entries 1149

y: iPhi ~sector

20

18

16

14

12

.................

0 2 4 6 8 10 12 14
x: iEta [-1,+2]

y: iPhi2 ~sector

|diJet phil-phi2 (accepted)] [Enties 1149]  [qjJet2 eta-phi (accepted) |’\/ west Endea [Entries  1149]
30 20 < 30— S ap
1
25 Loos
—{16 £
_ 5,
20 14 20
.
15 10 15
s
10 10
6
c 4
2
0 0 0 l
0 5 10 15 20 25 30 0 2 4 6 8 10 12 14

x: iPhil ~sector

X: iEta [-1,+2]



140

120

100

80

60

40

20

0

|diJet Et (accepted)] Entries 1149
Fro e Mean . 8.436
S 2.74

107 s ST
EH L - - _H,gh ST S -
R DR A S --- Low Etjet [
10 foreoon : : g
NN T W B --
0 10 20 30 40 50 60
x: Et (GeV)
diJet phi (accepted)| Entries 1149
70 e e e AMean 14.84
: : :[RMS  8.989
70| R S 1 F DR i e
70| NN O USROS et ot | fo
4 -
—ngh Et jet
30F ':- --- Low Et jet
L) s
205_.' .....................................................................................
- RED Jetl ET > GREEN Jet2 ET
L0
:I 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1
0 5 10 15 20 25 30

x: iPhi ~sector

120

|diJet eta (accepted)| Entries 1149
S A S S S : _Mean 8.066
- RMS 3933
— H|gh Et Jet """"""""
---LowEtjet | : |
)
- 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1
2 6 10 12 14
x: i Eta[-1,+2]
|diJet delZeta (accepted)] Entries 1149
= Mean 31.12
RMS  5.193

100

80

60

20

40}

20

30

40

50 60

x: delta zeta (rad*10)




H Entries 1149 H Entri 1149
|d|Jet delZeta vs. etal (accepted)| oy 6 06 |d|Jet eta2 vs. etal (accepted)| r;;f‘f( 6066

eany 7.418 |

Mean

60

50

x: iEta2 [-1,+2]

40

y: delta zeta (rad*10)

20

10

O T | | T | | T | | 111 | 11 | 11 | 111 | 1 O
0 2 4 6 8 10 12 14 0 2 4 6 8 10 12 14
x: iEtal [-1,+2] x: iEtal [-1,+2]

diJet delZetavs. avrPhi (accepted Entries 1149 total Et diJet (accepted Entries 1149
Mean x  14.68

{Meany 31.12

.........................

‘|Mean 2225

...................

100 v S S— S—

T e

y: delta zeta (rad*10)

e

1NN SO SR S SRR - S—
IS A S IS S T— 20 1 O O T
: : 5 : 5 2 : : : : :
1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 O O 1 1 1 1 | 1 1 1 1 i 1 1 1 1 i 1 1 1 1 —t i 1 1 1 1
1O 5 10 15 20 25 30 0 10 20 30 40 50 60

x: (iphil+iphi2)/2 (12 deg/bin) x: Et (GeV)



Entries

t Endcap

.................

12 14
x: iEta [-1,+2]

Entries

t{ Endcap

|Et of Jetl vs. Jet2 (accepted EE)| Entries 155 |diJetl eta-phi (accepted EE)|
> 12 50 _ 30 RTO\AI I:FIQ"' I.DIUVV. vve
3 s L
E _ : : : : : 45 § -
SR Te] ER S S SR A b U250 b
10 5 5 : 5 5 w 2 F
L : a -
: 35 ) SRS SOV SUUOY U SOUNUSOTS SRR O
: 30 -
25 L] SESCIISTSLE OS] EOSSI ISR SRS
20 -
10| R U S SR SR R
5 15 C
10 OO VOO YOO O RSO SO
N 5 F
0|||i||||||||||||||||||| 0 0_|||i|||i||i|||i|||
0 2 4 6 8 10 0 2 4 6 8 10
x: Jetl/GeV
|diJet phil-phi2 (accepted EE)| Entries 185 [diJet2 eta-phi (accepted_ EE)|
30 4 30 BTOW-East] DTovr vve
5 L : -_-P : o L
s [ m : L m S T
3] : ] o
CD C l : : : Q C
o F W% T T — ST T TN N U R N
o L - : z “F
g [ - 3 o
= C : S L
S 20 B i 20—
- | 2.5 -
15 R e 2 L] R s Seet] [T SRR SR
§ 15 -
10__ -.‘ """"""" - """""""""""""" 10__ """""""""""""""""""""""""""""""""
C 1 .
5 S S S 5 Wi o o S 58 iSO SOUSUUONS SO OO SOOI SO IO
C = : 0.5 C
- W e " : 5 C - - -
0 1 1 1 1 I 1 1 1 1 I 1 1 1 1 1 1 1 I - 1 1 I 1 1 1 1 O O 1 1 1 I 1 1 1 I 1 1 I 1 1 1 I 1 1 1

0 5 10 20 25

x: iPhil ~sector

0 2 4

6 8

10

12 14
X: iEta [-1,+2]

155

155

5



|diJet Et (accepted EE) |

Entries

10°

10

= Mean

NIV

155
5.197
1.092

_.[—High Etjet
Z|--- Low Et jet

] 1 .
.- A .. .................: .........................................................
] ] .
' L] :
-n--f dog -l - ---------------------------------------------------------
] 1 .
] 1 .
' 1 H H H H
' 1 H H H H
1= "L"L'l-l'l"I"l"l'j"L"j"L"j"l """ Pl Rl Rl et Rl el el Mt s W Sl

o

10 30 50

60

x: Et (GeV)

|diJet phi (accepted EE)|

|diJet eta (accepted EE) |

45—

40F-

35—

30—

25—

20—

15—

10—

5_

...............................................................

155
13.02

Entries
Mean

RMY  1.199

Entries

14

12—

10

—|Mean

. [RMS

155
14.37
9.508

..................................

PR URCEE TR C

-

[

1 11 i 1 1 1 1 i 1 1 1 L 1 1 1 1 1

0

5 10 15 20 25

x: iPhi ~sector

30

12

14

x: i Eta[-1,+2]

12—

10—

4
2_

(@]

N -z-:ﬁ;-hi(;] 132)

155
32.05
8.247

Entries

Mean

RMS

0

10 20 30 40

50

60

x: delta zeta (rad*10)




155
13.02
32.05

Entries
Mean x
Mean y

155
13.02
12.95 )

Entries
Mean x

Endcap
eany

|diJet delZeta vs. etal (accepted EE) | |diJet eta2 vs. etal (accepted_EE)|

D

151 A | R Y Nt S SRR SUNTUN SRR ey S

45 g A A A

50 o B e R R A

T e

x: iEta2 [-1,+2]
T

—3.5

5 5 5 5 o
--------- R e aE—=] :

--------- e —— | oA ol
- O =

15 - : : 6

(=]
T
I
[y
i

1N

40

y: delta zeta (rad*10)

[e)
|II
I
[
N

30

20

1 - i i i : i : 4
lo H H H H H H

OIllillliIllilllilllilllilllil

0 2 4 6 8 10 12 14
x: iEtal [-1,+2]

2 4 6 8 10 12 14

x: iEtal [-1,+2]

diJet delZeta vs. avrPhi (accepted_EE) |

Entries

y: delta zeta (rad*10)

Mean x
Mean y

155

14.2
32.05

.......................

. —
— .
e e -~ S
0

1O 5 10 15 20 25
x: (iphil+iphi2)/2 (12 deg/bin)

—2.5

0.5

30

Entries

ltotal Et diJet (accepted EE) |

:|Mean

17.22

155

.....................................................

30 40 50 60

x: Et (GeV)



|Et of Jetl vs. Jet2 (accepted EB)| Entries 188 diJetl eta-phi _(accepted EB) ‘ Entries 188
" 30 BITOW-Easl Yest Endcap 5
> : : : : : 45 5
o L : : : : : g T
S L : : : : : o T
LRET] E S P S e 40 U gpl i o S
I~ : : : : : < B
i : : : : : 3 = [
- : : : : : > =
20 7 ] R s
25 15:_ ............................................................
20 -
15 10:— ------------------------------------------------
10 C
5__ ........................................
5 B
B : : P
0 0||||||||||||||||||
0 2 4 6 8 10 12 0 2 4 6 8 10 12 14
x: Jetl/GeV x: iEta [-1,+2]
|diJet phil-phi2 (accepted EB)| Entries 188 [diJet2 eta-phi (accepted_ EB)| Entries 188
BTOW-East] DToir e
= 30 5 § 30_ ; : : T 4
°© o C
P o L 3.5
U 25 LI EESORU R SOY MR S I S
o < =
= o -
o = F :
.. > - .
20 20[ b o
C ——
15 (L R RCRate att] O o I
10 1L Rt i o W
5 ] RCL SCCIISI M) ITIIERIREE gt nossommsuoomee S5
0 1 1 1 1 i 1 1 1 1 i 1 1 1 1 1 i 1 1 1 1 i 1 1 1 1 O_I 1 1 i 1 1 1 i 1

0 5 10 15 20 25 30 0 2 4
x: iPhil ~sector X: iEta [-1,+2]



|diJet Et (accepted EB)| Entries 188

10°

10

- Mean  7.41

I

Y
<
n
[y
N
©
(e]

E . [—High Et jet
Foa :|--- Low Et jet

T N .

SRR R R TR E P REPPEEPPRT

e

I R T ............................
[] .

R
] .
] .

IR S P e
] .
] .
] .
. .

T S e I R i el B ey el 1 i el Wil el ey el .

0 10 20 30 40 50 60

x: Et (GeV)

188

11.1
1.875

|diJet eta (accepted EB)] Entries
C —Mean
o] ISR OO SOV SRR SO SO N ..|RMs
T SAetets SO SSOOE: SORRRRRS S IS SESSSOCSS -----
€ R S —High Etjet | SR
- : : --- Low Et jet o
2 ST S s O = U SO WO .
10
i : o
Cov o oy l PR el L1 | L1 | L1 | L1 | 1

0 2 4 6 8 10

|diJet phi (accepted EB)| Entries 188

12

10F

[Mean  14.74
:[RMS  8.874

N 137 T—High Etje
1 7 Tl--- Low Et jet

T > GREEN Jet

0 5 10 15 20 25 30

x: iPhi ~sector

|diJet delZeta (accepted EB)]

12 14

x: i Eta[-1,+2]

Entries

.............................................................

25

20

15

.........................................................

OF A TEphIILI2) * §GR(K XS,

0 Illli_lll_l |_||_| IIIiIIIIII

Mean
RMS

188
31.27
5.255

.......................

.......................

o

10 20 30 40

|_|I |-|I 11 | i 1
50 60

x: delta zeta (rad*10)




|diJet delZeta vs. etal (accepted EB)| Entries 188
= Mean x 11.1

— Meany 31.27

g 60 .....................................................................................

3 8

8 50

(0]

N

8

3 40

o

30

20

10

0

IO

0

2 4 6 8 10 12 14
x: iEtal [-1,+2]

|diJet eta2 vs. etal (accepted_EB)|

Entries 188

111
11.03

Endca@flggm

14— o R

I R e e

x: iEta2 [-1,+2]
T

15N
O

0
|

Olllilllilllilllilll

0 2 4 6 8

diJet delZeta vs. avrPhi (accepted_EB) |

Entries

y: delta zeta (rad*10)

Mean x

Mean y

188
14.39
31.27

.......................

1O

5 10 15 20 25

30
x: (iphil+iphi2)/2 (12 deg/bin)

ltotal Et diJet (accepted EB)|

10

12 14
x: iEtal [-1,+2]

Entries

22 : :
20F : '
18F
16F
14F

12F
10F

(e}

:|Mean

188

20.21

.............................................................

| I illl II |_||_|I|_|i 11 11 il 11 1

o N N
T

20 30

40

50

60
x: Et (GeV)




Entries 883 Entries 883
|Et fzf Jetlvs. Jet2 (accepted_BB)| » |d|Jet1 eta phi (accepéelcllvl?;Bv)v s Endcap
>

> L : : : : 5 5
6 f 5 5 5 5 : l g I20
S : : : : o
LSRETo) S ST N S A 120 7 or R I 18
i . . . . QS_- 16
100 % ] :
$] STERETCTRIEL: TEPRTCTRRTOR SETTRRRTTREE SRS S 14
i 12
6_ ....................................................................................
4— ---------------------------------------------------------------------
b e T T T e R P TR R RE Tt PEPRT PR PR
0 PR SR SR T TR TR N NN SR ST S

0 2 4 6 8 10 12 0 2 4 6 8 10 12 14
x: Jetl/GeV x: iEta [-1,+2]
|diJet phil-phi2 (accepted BB)] Enties  883]  IdjJet2 eta- phl (accepted BB)
DTUVVEVV

30 , , , 20 L 2 - _

o bS]

.;CS (&)

3 I18 3

P 25 P ool e

o —{16 <

e o

= =

S 20 —114 oo i

12

15

10

0 1 1 1 1 i . 1 1 i 1 I 1 - 1 i 1 1 1 1 I I
0 5 10 15 20 25 30 0 2 4 6 8 10 12 14
x: iPhil ~sector X: iEta [-1,+2]




|diJet Et (accepted BB) |

Entries

10 i
N
N R —

JMean 9.

HRMs 2.

883
204
592

— H|gh Etjet
--- Low Et jet

...................................................................

...............................................................

"'L'J"'l"i"l"L'J"L'J’"L'J"'l"l"

40 50 60
x: Et (GeV)

883
6.826
3.533

|diJet eta (accepted BB)| Entries
= . . . Mean
T e e TR SIS S
i : R RMS
10| I .- ----------- [ ---------------------------------------
60:-- .................... L . ' . SUUUUETUTTY DU
i — High Et jet
i ---LowEtjet |.

40|

20—

0

2 4 6 8 10 12

14

x: i Eta[-1,+2]

Entries

50

40{—-------

30

20

10

RED Jetl ET > GRE

—|Mean

883

14.94
‘IRMS 8.

925

e

—— H|gh Et jet
--- Low Et jet

Jet2 ET

o

5 10 15 20 25 30
x: iPhi ~sector

|diJet delZeta (accepted BB)]

100

80

40—

20

Entries
Mean
RMS

883
30.97
4.321

...................................................................................

3 RS WU S S N S

I—i—| 1 1 1 i 1

50

60

x: delta zeta (rad*10)




|diJet delZeta vs. etal (accepted_BB)| l\Eﬂg'nei
S _F Mean
e U SN NN OUOUOUOOE WO N
U B .
& r

8 50

(0]

N

8

3 40

o

883
6.826
30.97

20

10

0IllillliIllilllilllilllilllil

0 2 4 6 8 10 12 14
x: iEtal [-1,+2]

Entries

|diJet eta2 vs. etal (accepted_BB)|
R TO\A En

x: iEta2 [-1,+2]

dca%ean X

eany

10 12

14
x: iEtal [-1,+2]

diJet delZeta vs. avrPhi (accepted_BB) |

Entries

y: delta zeta (rad*10)

Mean x
Mean y

883
14.79
30.97

...................

10 5 10 15 20 25

30
x: (iphil+iphi2)/2 (12 deg/bin)

883
6.826
6.013

Entries

80

70

60

50

40

30

20

10

:|Mean

883

23.48

.................................................................................

.................................................................................

—t I—'—i 1 1 1 1

20 30 40 50 6

0

x: Et (GeV)




